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English (15 Marks)
Q.1 Read the passage carefully and answer the questions that follow: 4

Q.2

Many years ago at the foothills of the kaatskill mountains, was a little village. In
the village lived a simple, good-natured fellow named Rip Van Winkle. He was a
kind neighbour, ready to help anyone. Everyone in the village liked him. The
children of the village shouted with joy whenever they saw him because he played
with them he taught them to fly kites and shoot marbles. The only problem, with
rip was that he was very lazy. He did not work on his own farm and just idled
away his time. His fences were falling to pieces.

1. What kind of man was Rip ?

Ans:

2. Write the opposite of the given words from the passage:
(a) Disliked X (b) Active X
3. Why did the children of the village like him ?

Ans:

4. What was the problem with Rip ?

Ans:

Do as directed:

(A) Write the plural of: 2

(a) Army (b) Life

(c) Pony (d) Stich

(B) Match the following: 2
Column A Column B

1. Sir Goddess

2. Host Madam

3. Priest Hostess

4. God Priestess
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Q.3

Q.2

Q.3

(C) Join the sentences by using ‘as well as’, ‘if’:
1. He is idle. He is foolish

Ans:

2. T am free this evening. I will watch the match

Ans:

(D) Fill in the blank with suitable preposition:
1. We walk the park. (around/full)
2. We catch out bus 7 AM. (at/do)

Write a paragraph on “Rainy Day”:

Mathematics (20 Marks)
Fill in the blanks:
[80, 150, 2, 1, 400]

. 12 is divisible by =

is neither prime number nor composite number.

. Place value of 4 in 3469 is
. 300 » 2 =

1
2
3. Nearest tens for 79 is
4
5

Tick the correct answer:
1. Nearest hundreds of 639 is

(a) 300 (b) 600 (c) 900 (d) None of these
2. Roman numeral for 24 is

(a) XXVII (b) XX (c) XXIV (d) None of these
3. The Hindu Arabic numeral for XIII is

(@) 13 (b) 31 (c) 33 (d) None of these
4. 49 x 100 =

(a) 490 (b) 4900 (c) 49 (d) None of these
5. 30+10 =

(@) 3 (b) 10 (c) 30 (d) None of these
Write all factors of 18:
Solve:



Q.4

Find the LCM of 12 and 15:
Solve:

Q.5 Write squares of the following numbers:

@9 = (b) 13 =

Q.6 Word Problems:
1. A company sold 148462 TVs this year. Last year they had sold 121230 TVs. How

Q.2

Q.3

many more TVs did they sell this year ?
Solve:

EVS (15 Marks)
Fill in the blanks:

[Plastic, Caterpillar, germs]

1. The larva of a butterfly is called

2. Disease causing microbes are called

3. bags stops the flow of water in the drains.

Match the following:

Column A Column B
1. Bengaluru Preservation
2. Makes food last longer Dispur
3. Rajasthan Aircraft manufacturing
4. Assam Jaipur
Circle the odd one out in each:
1. Fish Deer Snake
2. Apple Mango Potato
3. Cat Car Bus
4. Mercury Jupiter Asia
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Q.4 Tick the correct answer:

1.

. Clothes do not protect us from

Children in which age group should be given free education.
(a) 6-14 years (b) O-6 years (c) 10-16 years

(a) Heat (b) Cold (c) Thieves
Terrestrial animal breathe through
(a) Air holes (b) Lungs (c) Gills

. Which of these monuments did Akbar build

(a) Taj Mahal (b) Agra Fort (c) Red Fort

Q.5 Answer the following:

1.

Who are the banjaras?

Ans:

2.

What is first aid ?

Ans:

Q.6 Draw five things which are kept in the First Aid Box:

Q.7 Solve the puzzle:




